#¢ Theaxis ofa parabola is along the line y = x and the distances

of its vertex and focus from origin are 2 and 22
respectively. If vertex and focus both lie in the first quadrant,
then the equation of the parabola is (2006 - 3M, 1)
@ x+yP=@-y-2) () @-yP=@E+y-2)

© (-yP=4(x+y-2) @ @x-y)>=8(x+y-2)

Solution: -

7—: (d Since, distance of vertex from originis /2 and focus

is 2.2
. Vertex is (1, 1) and focus is (2, 2), directrix x+y=0
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Equation of parabola 1s

Ty

(x=2)" +(y-2)° =[W]

= 2(x® —4x+4)+2(0* -4y +4) =x* + y* + 2xp

= X2+ -20y=8(x+y-2)
= (x-y)P=8(x+y-2)



